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Solving Inequalities Algebraically
and Graphically

« Solving Absolute Value Inequalities
« Solving Quadratic Inequalities

~These techniques are involved in using a graphing utility to solve inequalities in
this textbook

Sections P7:
HW: Pg 58. #'s 3-24 by 3's, 34
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Solving an Absolute Value Equation

Solve
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Solving an Absolute Value Inequality
Solve
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Solving an Absolute Value Inequality
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Solving a Quadratic Inequality
Solve
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gollving a Quadratic Inequality
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Solving a Quadratic Inequality Graphically
Solve

X2 - 4x = -1

X -4x +| 2O
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Projectile Motion

Suppose an object is launched vertically from a point s, feet above the ground
with an initial velocity of v feet per second. The vertical position s (in feet) of
the object 7 seconds after it is launched is

s = —1612 + vyt + 5.
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Finding the Height of a Projectile

A projectile is launched straight up from ground level with an initial

velocity o\f/288 ft/sec. Se =0
When will the projectile's height reach 1152 ft above
the ground? ¢ — _ \étl-\-\/.,{ + S, S
NSL = -\ G5+ BRE+ O
by ~I(
O=-16€*+283L -1 m"” J
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